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POLITICAL SCIENCE
(General)
Paper Code : I1-A & B
(New Syllabus)
Full Marks : 150 Time : Four Hours

Paper Code : II - A
(Marks : 50)
Choose the correct answer.
Each question carries 2 Marks.
1. What is the main motto of Nationalism ?
(A) Live and let live
(B) Save and let live
(C) Self-determination
(D) None of the above
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2. “Nationalism is a highway to Internationalism — who said this ?
(A) Rabindranath Tagore
(B) A. F. Zimmemn
(C) Karl Deutsch
(D) None of the above
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. Who is the father of Nationalism in Italy ?
(A) Roosevelt

(B) Rabindranath Tagore

(C) Mazzini

(D) None of the above
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. Who said that Imperialism is ‘moribund capitalism’?
(A) Karl Marx

(B) Lenin

(C) Mao-ze-Dong

(D) None of the above
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. Who wrote the book “The Globalization of World Politics” ?

(A) Jan Aart Scholte

(B) Karl Deutsch

(C) A. F Zimmem

(D) None of the above
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. Who said that Revolution is the ‘Locomotive of History’ ?
(A) Lenin

(B) Stalin

(C) Marx

(D) None of the above
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. Who wrote the book ‘Evolutionary Socialism’ ?
(A) Karl Marx

(B) Bemstein

(C) Lenin

(D) None of the above
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. Which Country has one-party system —
(A) U.S.A.

(B) China

(C) India

(D) None of the above
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How many chambers are there in US Congress ?
A) 2
B) 3
© 4
D) 5
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Who is called ‘Keystone of the Cabinet Arch” in UK. ?
(A) Prime Minister
(B) King
(C) Speaker
(D) Chancellor
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Who wrote the book ‘State and Revolution’ ?
(A) Karl Marx
(B) V. L Lenin
(C) Mao-Ze-Dong
(D) None of the above
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“The history of all hitherto existing society is the history of class struggles” — Who said

this ?

(A) Lenin & Engels

(B) Marx & Engels

(C) Mao-Ze-Dong & Engels
(D) None of the above
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“Communist Manifesto” was published in the year —
(A) 1845

(B) 1905

(C) 1848

(D) 1867
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What is the Alternative Government of King or Queen in Britain ?
(A) Opposition Party

(B) Ruling Party

(C) Prime Minister

(D) None of the above
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How many states are there in USA ?
(A) 100
(B) 200
(C) 300
(D) 50
R JSANG A HA F© 2
(A) soo0
(B) oo
(C) woo
(D) eo
What is the tenure of U.S. President ?
(A) 5 years
(B) 6 years
(C) 4 years
(D) 3 years
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In which year was the mass revolution organised in China ?
(A) 1949
(B) 1950
(C) 1951
(D) 1952
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What is the tenure of Chinese President ?
(A) 4 Years
(B) 5 Years
(C) 6 Years
(D) 7 Years
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The name of Chinese Legislature is —
(A) Parliament
(B) National Peoples Congress
(C) Congress
(D) None of the above
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Who appoints the Judges of the Supreme Court of India ?
(A) President
(B) Prime Minister
(C) Vice-President
(D) None of the above
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What is the term of office of the judges of the Supreme Court in India ?
(A) 62 Years
(B) 65 Years
(C) 70 Years
(D) None of the above
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Who appoints the members of the Election Commission of India ?
(A) President

(B) Prime Minister

(C) Vice President

(D) None of the above
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In which article of the Constitution of India recognize the right to vote of citizens ?

(A) Article 324

(B) Article 326

(C) Article 328

(D) None of the above
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Which one is not a regional party in India ?
(A) National Conference
(B) T.D.P.
(©) A.LLD.M. K
(D) Indian National Congress
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What is the tenure of the Election Commissioner of India ?
(A) 4 Years

(B) 5 Years

(C) 6 Years

(D) None of the above
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Paper Code : II - B
(Marks : 100)

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Group - A
Answer any six questions, taking atleast two from each half. 15%6=90

First Half

. What do you mean by Nationalism ? Point out the relationship between Nationalism and

Internationalism. 5+10
What is Globalization ? What are the major components of Globalization ? 5+10
. What do you mean by Class ? Discuss the Marxian theory of Class Struggle. 5+10
Describe the role of Interest Groups in modern state. 15

Second Half

Discuss the powers and position of Prime Minister in Britain. 15

Discuss the functions and position of U.S. President. 15

Discuss the role of the Supreme Court as the process of Judicial Review. 15

Evaluate the role of Communist Party of China. 15
Third Half

Discuss the composition and Jurisdiction of the Supreme Court of India. 15

Describe the Amendment procedure of the Constitution of India. 15

Discuss the special provisions of the Indian Constitution relating to SCs and STs. 15

Discuss the main features of Party System in India. 15
Group - B

Write short notes on any two of the following : 5%2=10

(a) Concept of Revolution.
(b) Democratic Centralism
(c) 73rd Amendment of Indian Constitution.

(d) Judicial Activism in India.
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